
The Gold Standard and the Collapse of Bretton Woods 

A 
For much of modern economic history, the gold standard represented a 
pillar of monetary stability. Under this system, the value of a nation’s 
currency was directly tied to a fixed quantity of gold, allowing countries to 
exchange paper money for a specific amount of the precious metal. The 
appeal of the gold standard lay in its ability to limit inflation and promote 
trust in international trade by providing a consistent benchmark. However, 
by the middle of the 20th century, a more flexible yet equally ambitious 
arrangement, known as the Bretton Woods system, took center stage. Its 
rise—and eventual collapse—marked a turning point in global economic 
policy. 

B 
The classical gold standard emerged in the 19th century and was widely 
adopted by industrialized nations by the 1870s. This system offered 
predictability, which was particularly valuable for international trade and 
investment. Countries agreed to fix their currencies to a specific amount 
of gold, thereby enabling stable exchange rates. While this helped 
facilitate global commerce, it also introduced rigidities. During times of 
economic downturn, countries adhering to the gold standard were often 
unable to pursue monetary policies that could stimulate recovery, since 
increasing the money supply required proportional gold reserves. This 
inflexibility became painfully clear during the Great Depression of the 
1930s, when economic hardship forced many nations to abandon the gold 
standard altogether. 

C 
As World War II neared its end, economic leaders sought to avoid the 



volatility and beggar-thy-neighbor policies of the interwar years. In 1944, 
representatives from 44 Allied nations convened in Bretton Woods, New 
Hampshire, to design a new framework for postwar economic 
cooperation. The result was the Bretton Woods Agreement, which created 
the International Monetary Fund (IMF), the World Bank, and a novel 
exchange rate system. Under Bretton Woods, member countries agreed 
to peg their currencies to the U.S. dollar, which in turn was convertible to 
gold at $35 per ounce. This arrangement aimed to combine the stability of 
the gold standard with the flexibility needed to manage postwar 
reconstruction and growth. 

D 
The United States emerged from World War II with the world’s strongest 
economy and held most of the global gold reserves. This placed the U.S. 
dollar at the center of the Bretton Woods system, effectively making it the 
world’s reserve currency. Nations maintained fixed exchange rates with 
the dollar and intervened in currency markets to preserve these pegs. If a 
country experienced persistent deficits, it could seek temporary support 
from the IMF. While this structure initially fostered stability, it relied heavily 
on confidence in the dollar’s convertibility into gold—something that 
became increasingly difficult to maintain as time passed. 

E 
By the 1960s, the United States faced growing economic challenges. 
Massive spending on social programs and the Vietnam War led to fiscal 
deficits and inflationary pressures. Meanwhile, other nations—especially in 
Europe and Japan—had rebuilt their economies and amassed large dollar 
reserves. The resulting dollar overhang raised doubts about America’s 
ability to uphold the gold convertibility promise. As confidence wavered, 



countries began demanding gold in exchange for their dollar holdings. 
The strain on U.S. gold reserves grew acute, prompting policymakers to 
reconsider the system’s viability. 

F 
In August 1971, U.S. President Richard Nixon took the unprecedented 
step of suspending the dollar’s convertibility into gold. This move, known 
as the Nixon Shock, effectively dismantled the Bretton Woods system. 
Though initially described as temporary, the suspension soon became 
permanent. In the years that followed, countries gradually shifted toward 
floating exchange rates, where currency values were determined by 
market forces. This new era allowed greater autonomy in monetary policy 
but also introduced volatility that the earlier systems had attempted to 
suppress. 

G 
The collapse of Bretton Woods did not mark the end of global economic 
cooperation, but it signaled a new chapter in international finance. 
Floating currencies became the norm, and institutions like the IMF 
adapted their roles accordingly. Critics of the gold standard and Bretton 
Woods often highlight the constraints they imposed, while supporters 
lament the discipline and predictability that were lost. Today, the debate 
over fixed versus flexible exchange rates continues, shaped by the 
legacies of these two influential systems.  



Questions 

Questions 1–5 

Which paragraph contains the following information? 
Write the correct letter A–G next to each statement. 

1. The impact of U.S. military and social spending on confidence in the 
dollar 

2. How the Bretton Woods system aimed to fix the shortcomings of the 
gold standard 

3. A description of how gold convertibility made it difficult for nations 
to expand the money supply 

4. The role of U.S. dominance in maintaining the Bretton Woods system 

5. A description of how floating exchange rates replaced fixed ones 

 

Questions 6–11 

Complete the summary below. 
Choose NO MORE THAN THREE WORDS from the passage for each 
blank. 

The Shift from Gold to Floating Exchange Rates 

By the early 20th century, the gold standard provided a (6) __________ for 
global trade, offering consistency and trust. However, its (7) __________ 
during economic downturns led to widespread abandonment during the 
Great Depression. After World War II, the (8) __________ sought to create 
a new economic order by tying global currencies to the U.S. dollar, which 
itself was convertible to gold. Over time, concerns about excessive (9) 



__________ and rising inflation in the United States weakened confidence 
in the system. The pressure on U.S. (10) __________ increased as countries 
converted dollars into gold. Eventually, President Nixon suspended (11) 
__________, ending the Bretton Woods system. 

 

Questions 12–13 

Choose the correct letter A, B, C, or D. 

12. Why was the U.S. dollar central to the Bretton Woods system? 
A. It had the lowest inflation rate among major currencies 
B. It was freely convertible to other currencies 
C. It was the only currency tied directly to gold 
D. It was backed by loans from the IMF 

13. According to the passage, what was a major disadvantage of 
the gold standard? 
A. It caused hyperinflation during recessions 
B. It prevented countries from conducting independent monetary 
policy 
C. It forced countries to borrow gold from the IMF 
D. It encouraged countries to maintain floating currencies 

 

  



Answer Key 

1. E 
2. C 
3. B 
4. D 
5. F 
6. consistent benchmark 
7. inflexibility 
8. Bretton Woods Agreement 
9. government spending 
10. gold reserves 
11. gold convertibility 
12. C 
13. B 


